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107 T E o (B 2o 219,04 1 & 015 | BukD 0.90 __ 0.10 100LLE 3 3 < < - - 9| 56 350 1700155 BEEE I T oL
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TREES ZaE 779,74 A 016 Bk | 0.0 0.0 T00LLE 4 4 4 < = - S — 370 1.600[18 55 35 B PO (K 09 1
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239 |[BED Bt a4 H27.9.30 & 0.11 [ Fwk@ - - - - - - - - - 11 60 790 3, 500|FEE R S HE R X i At
240 |E/HS L a4 H27.9. 30 5 0.22 | EwkA - - - - - - - - - 2 61 2,400 10, 000|252 S HE R X i At
241 1%/ At a4 H27.9. 30 5 0.13 | HwkA - - - - - - - - - 11 61 820 3 I0|EEER S HE R X g At
242 |FRI|RS L a4 H27.9. 30 5 0.19 | EwkA - - - - - - - - - 4 67 1,000 4, 40|12 E R HE S HE R X i At
243 | FE~ M a4 H27.9. 30 5 0.20 | EwkA - - - - - - - - - 8 60 1,500 6,500 fRE 8 SR R X i ot
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244 |RBIRZ R H27.9.28 & 0.12 | EwkA - - - - - - - 3 55 220 160[E 552 w8 TR R X 15 5%
245 |ZREhE R H27.9.28 & 0.13 | BwkA - - - - - - - 10 66 450 2,000/ 55 wEEE TR R X 15 5}
246 |17/ At R H27.9.28 & 0.15 | HwkA - - - - - - - 10 63 170 3. 300|258 w8 TR R X 15 5}
4] |=t+45 At R H27.9.28 & 0.16 | HwkA - - - - - - - 12 49 530 2,200|12 58 wEEE TR R X 15 5}
248 |BE 4 Ath R H27.9. 28 5 0.18 | EwkA - - - - - - - 8 51 420 1,805 R wEEE TR R X 15 5}
249 |[RAfR R H27.9.30 & 0.15 | HwkA - - - - - - - 12 63 610 2400|1258 wEEE TR R X 15 5}
250 |fig3fith R H27.9.30 & 0.15 | HwkA - - - - - - - 12 10 820 3500|125 E wEEE TR R X 15 5%
251 |\~ HKith R H27.9.29 5 0.22 | EwkA - - - - - - - 9 53 1,200 4900|258 w8 T R X 15 5}
252 |GEdith R H27.9.29 & 0.23 | BwKkA - - - - - - - 4 63 1,300 5 700|258 wEEE TR R X 15 5%
253 |/ Eith R H27.9.29 & 0.15 | HwkA - - - - - - - 1 68 610 2,400 |12 &8 w8 TR R X 35 5}
254 |#hith R H27.9.29 & 0.19 | EwkA - - - - - - - 10 66 2,900 12,000 {2 &% wEEE TR R X I 5}
255 |—/ iRt R H27.9.29 & 0.23 | BwkA - - - - - - - 12 63 1,300 5, 900t && wEEE TR R X 35 5%
256 |#ith R H27.9.28 & 0.24 | BwKA - - - - - - - 1 66 2,300 9, 500(t2 &% wEEE TR R X 15 5%
257 |RAfRM R H27.9.28 & 0.31 | EwkA - - - - - - - 10 62 1,400 5600|125 & wEEE TR R X 15 5}
258 |R4YiR: R H27.9.29 5 0.20 | EwkA - - - - - - - 12 61 1,100 4000|1258 wEEE TR R X 35 5}
259 |54 Aith R H27.9.28 & 0.25 | HwkA - - - - - - - 10 55 920 4000|1258 wEEE TR R X 15 5}
260 [t ATt R H27.9.28 & 0.25 | BwkA - - - - - - - 10 58 820 3500|258 wEEE TR R X 35 5}
261 |BEMh R H27.9.28 & 0.22 | BwkA - - - - - - - 4 59 1,900 1,10[EE R wEEE TR R X 15 5}
262 |[m Lt R H27.9.29 & 0.17 | EwkA - - - - - - - 12 68 1,700 7,10[&E5 5 wEEE TR R X 15 5}
263 |k T XM 1 BEAEM [RIFH H27.9.29 & 0.28 | HwkA - - - - - - - 5 55 3, 300 14.000|2 5 & wEEE TR R X 15 5}
264 | T XM 25 FAEM [RIFH H27.9.29 & 0.23 | BwKkA - - - - - - - 12 67 5, 600 24 00052 wEEE TR R X 15 5}
265 | T XM 4BEAEM [RIFH H27.9.29 & 0.23 | EwKkA - - - - - - - 1 14 290 1,30[e S5 wEEE TR R X 15 5}
266 |= kMt R H27.9.29 & 0.18 | HwkA - - - - - - - 8 65 1, 600 6,905 5 wEEE TR R X 35 5}
267 |H it R H27.9.28 & 0.12 | EwKkA - - - - - - - 10 10 240 920|288 wEEE TR R X i 5%
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268 [FRith & WRHET H27.9. 30 & 0.04 | EkA - - - - - - - - 5 47 30 120|255 w8 TR R X 15 5%
269 |1 Ehith & WRHET H27.9. 30 5 0.08 | HwkA - - - - - - - - 3 44 140 600[f2 58 wEEE TR R X 15 5}
210 [Imih £ & WRHET H27.9.29 & 0.07 | EwkA - - - - - - - - 1 60 230 1100|265 w8 TR R X 15 5}
271 | Kith & R HET H27.9.29 & 0.08 | HwkA - - - - - - - - 10 65 380 1,600|1f2 55 wEEE TR R X 15 5}
272 |/vith & WRHET H27.9.29 & 0.12 | BwkA - - - - - - - - 1 50 570 2,400[2 58 wEEE TR R X 15 5}
213 [FE & WRHET H27.9.29 & 0.15 | HwkA - - - - - - - - 10 62 790 3,600[25 & wEEE TR R X 15 5}
274 |H0ith & WRHET H27.9.29 5 0.10 | HwkA - - - - - - - - 5 44 150 680[f2 58 wEEE TR R X 15 5%
2]5 |”Dith & WRHET H27.9. 30 & 0.07 | EwkA - - - - - - - - 6 57 790 3, 300[2 55 w8 T R X 15 5}
276 | Kith & WRHET H27.9.29 & 0.14 | EwkA - - - - - - - - 1 58 610 2,600[25 5 wEEE TR R X 15 5%
271 |&dnith X WRHT H27.9.29 B 0.16 | EwkA - - - - - - - - 10 66 2,300 10.000|2 5 & w8 TR R X 35 5}
218 |ADRt & WRHET H27.9.29 5 0.19 | EwkA - - - - - - - - 10 66 870 3, 900[2 55 wEEE TR R X I 5}
279 |JcHith & R HET H27.9.29 5 0.20 | HwkA - - - - - - - - 9 60 1,100 4, 6002552 wEEE TR R X 35 5%
280 [Hith & WRHET H27.9. 30 5 0.11 | HwkA - - - - - - - - 8 55 920 4, 100258 wEEE TR R X 15 5%
281 [FC it & WRHET H27.9. 30 5 0.09 | EwkA - - - - - - - - 3 11 180 3, 300[2 55 wEEE TR R X 15 5}
282 |Eikith & WRHET H27.9. 30 5 0.15 | HwkA - - - - - - - - 10 61 390 1,600|1f2 55 wEEE TR R X 35 5}
283 |FA R & WRHET H27.9. 30 5 0.10 | HwkA - - - - - - - - 10 11 1,100 4, 800255 wEEE TR R X 15 5}
284 |Zith & WRHET H27.9. 30 5 0.09 | EwKkA - - - - - - - - 9 66 460 1,900/ 65 S TR R X 35 5%
285 |F/\iEKith & WRHET H27.9.29 5 0.23 | EwkA - - - - - - - - 10 65 110 500[f2 58 wEEE TR R X 15 5}
286 |ithad Aith & R HET H27.9.29 5 0.11 | HwkA - - - - - - - - 9 54 130 3, 000255 wEEE TR R X 35 5}
287 |iEF|ith & WRHET H27.9. 30 & 0.07 | EwKA 0.40 0.10 13 3 3 <1 <1 - 12 64 290 1L100[&EE R wEEE TR R X i 5%
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288 |#MB K hEH H27.9.29 & 0.08 | EwKkO - - - - - - - - - 10 50 120 600[{EE 8 M IR RN
289 |H&:ih hEH H27.9.29 & 0.08 | EwKkO - - - - - - - - - 10 51 89 400[F2EE M IR RN
290 |#&; hEH H27.9.29 & 0.09 | BwKkO - - - - - - - - - 10 55 110 410[F2EE MR RN
201 |FEEM hEH H27.9. 30 & 0.19 | BwkO - - - - - - - - - 7 63 780 3,200[FsE & MR RN
202 | BT EM hEH H27.9.29 & 0.10 | kO - - - - - - - - - 10 55 230 880[F=EE MR RN
293 [ hEH H27.9.29 & 0.08 | EwkO - - - - - - - - - 5 66 280 1,300|fE B8 M IR RN
204 |EEE hEH H27.9.29 & 0.07 | BwkO - - - - - - - - - 10 56 190 80[FEEE MR RN
205 |t hEH H27.9. 30 & 0.09 | k@A - - - - - - - - - 10 62 270 1,200/ B8 M IR RN
206 |AEFM hEH H27.9. 30 & 0.09 | BwkO - - - - - - - - - 9 58 1,000 4 100[FsE & M IR RN
297 |Fth hEH H27.9.29 & 0.07 | BwKkO - - - - - - - - - 10 60 320 1,400|fEE 8 M IR RN
298 [ K hEH H27.9.29 & 0.15 | kA - - - - - - - - - 10 67 510 2,200(F2E & M IR RN
299 |BER b hEH H27.9. 30 & 0.09 | BwKkO - - - - - - - - - 9 68 650 2, 600[F2EE M IR RN
300 [BBR T hEH H27.9. 30 & 0.10 | EwKkO - - - - - - - - - 10 59 270 1,200/ &8 M IR RN
301 B4 464 hEH H27.9.29 & 0.08 | EwKkO - - - - - - - - - 9 45 120 h80[FEEE MR RN
302 |ZE=Em hEH H27.9.29 & 0.08 | EwKkO - - - - - - - - - 10 59 280 IN[FEEER MR RN
303 |efE hEH H27.9.29 & 0.06 | EwoKkO - - - - - - - - - 5 75 380 1,700|fE B8 MR RN
304 [E7it hEH H27.9.29 & 0.06 | EwKkO - - - - - - - - - 10 46 87 BO[FEEE M IR RN
305 |girh hEH H27.9.28 & 0.08 | EwKkO - - - - - - - - - 10 55 390 1,700/ B8 MR RN
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306 | KiFKh Hh = BT H27.10.13 & 0.11 [ Fwk@ - - - - - - - - - 12 70 1,100 4,600|F2E 8 S HE R X i At
307 |Hmigith Hh = BT H27.10.12 & 0.13 | k@ - - - - - - - - - 11 64 560 2,40|FRE R S HE R X i At
308 [EHF# Hh = BT H27.10.12 5 0.13 | HwkA - - - - - - - - - 12 69 570 2, 600|258 S HE R X g At
309 [XKith Hh = BT H27.10.13 5 0.12 | FwkA - - - - - - - - - 12 60 440 1,900t E 8 HE S HE R X i At
310 [Tt Hh = BT H27.10. 14 & 0.08 | HwkO - - - - - - - - - 3 46 140 560[EE 8 S HE R X i At
311 &4 e Hh = BT H27.10. 14 & 0.10 [ Hwk@ - - - - - - - - - 1 46 210 B40[{EE R S HE R X i At
312 [RE%pith Hh = BT H27.10.12 & 0.14 | FwkO - - - - - - - - - 9 60 730 3200|f2E 8 S HE R X i At
313 |dpFith Hh = BT H27.10.13 5 0.12 | FwkA - - - - - - - - - 9 53 250 1,200[42E 8 S HE R X i At
314 |#E3 i Hh = BT H27.10.13 5 0.11 [ Fwk@ 0.80 0.10 38 Ji 15 <1 <1 - - 3 51 410 1,800t H S HE R X i At
315 [T g A Hh = BT H27.10.13 5 0.10 [ Fwk@ 1.00 0.10 38 8 Ji <1 <1 - - 5 b8 550 220|258 S HE R X i At
316 |=F / iRt Hh = BT H27.10.13 5 0.10 [ Fwk@ 0.90 0.10 42 4 4 <1 <1 - - 8 54 810 3, 800|FEER S HE R X i At
317 |46/ 15t Hh = BT H27.10.13 5 0.14 | Fwk@ 0.60 0.10 20 Ji 1 <1 <1 - - 5 65 2,800 11,0002 58 S HE R X i At
318 [{EERIR:h R = BT H27.10.13 5 0.10 [ Hwk@ 0.40 0.10 70 Ji 5 <1 <1 - - 5 18 1,500 6,200|fEE 8 S HE R X i At
319 |7KiRG Hh = BT H27.10.12 5 0.12 | Fwk@ 0.80 0.10 32 5 8 <1 <1 - - 10 61 350 1,400[45EE S HE R X i At
320 [HE R = BT H27.10.12 & 0.12 | kO 0. 60 0.10 38 Ji 8 <1 <1 - - 9 43 340 1,500 B8 MR RN
321 It Hh = BT H27.10. 14 5 0.09 [ kO 0.80 0.10 52 2 4 <1 <1 - - 6 53 540 2,30|FRE R S HE R X i At
322 |t Hh = BT H27.10. 14 5 0.07 [ k@ 0.80 0.10 32 6 18 <1 <1 - - Ji 50 210 0[{EER S HE R X i At
323 |EEER Hh = BT H27.10. 14 5 0.12 | Fwk@ 0.50 0.10 1001 E 1 1 <1 <1 - - 5 64 810 3 40|FEE R S HE R X i At
324 e xith R = BT H27.10.13 5 0.11 [ Fwk@ 1. 80 0.50 22 4 Ji <1 <1 - - Ji 10 1,900 1,600 fRE S HE R X i At
325 [EEith Hh = BT H27.10.12 5 0.14 | FwkO 0.50 0.10 36 4 5 <1 <1 - - 4 51 540 2,30|FRE R S HE R X i ot
326 [Kith Hh = BT H27.10.13 5 0.11 [ Fwk@ 0.30 0.10 15 55 170 <1 <1 - - 10 35 45 200[tEE 8 S HE R X i ot
327 [HFith R = BT H27.10.13 5 0.11 [ Fwk@ 1.70 0.50 26 8 1 <1 <1 - - 12 59 680 2,600|F2E 8 S HE R X i At
328 (Wit Hh = BT H27.10.12 5 0.18 | FwkO 0.40 0.10 71 2 2 <1 <1 - - 10 54 500 2,10|&RE 8 S HE R X i At
329 [/MhiEih A= BT H27.10.13 5 0.09 [ k@ 0.50 0.10 84 3 3 <1 <1 - - 6 13 1,200 5, 200|f2E 8 E S R R X i At




